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rescue_cat.c

//&&0HM09. LT ¢ 10| =5}
#define _CRT_SECURE_NO_WARNINGS //scanf 20t ZA1 S|
FOA

9
#pragma warning(disable : 6031) //scanf2| Bt=tZtQ Swarning C6031= sHAISHZ| {8 F7t.
#include<stdio.h>
#include <math.h>

#define MAX 2047

int main(void) {
int i, j, N, K, M[MAX] = {-1}, size_M;

//1) LERQ| ZHX| EHA| NIt 28 Sl K 23
scanf("%d %d", &N, &K);

size_M = pow(2, N + 1) - 1; //OFX|2F L}RIIX| B

//2) URIHX| 2 LHIPOCRE HiE o[FEZ +4
for (i =1; i <= size_M; i++) //1H0] RELE
scanf("%d", &M[i1);

/13) nZolel Y AKX Ol dt|

i = pow(2, K); [12Z017L A= B Kol HER LRI

A
j =pow(2, K+ 1) - 1; //2F0[7b = 2IF K2l OFX|Z LERIEX]|
for (i <=j; i++) {
if ((M[i » 2] ==0) 8& (M[i » 2+ 1] ==0)) //iQ ¥F AALES} QER
AAMEEZE gl BHEEEQ 2
printf("%-3d", i); //nL0|Q] 04 X (LIR7IX] Hz) £

}

printf("#ntn");

return 0;
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classify_animals.c

//280 /10, A™EZZ

52 25517

#define _CRT_SECURE_NO_WARNINGS //scanf =OF A1 &jiX|

5
#pragna warning(disable : 6031) //scanf| Et=tZfal
#include<stdio.h>

#include <string.h>

#define MAX 30

int main(void) {
int i, n=0, N, cnt=0;

Swarning 060318 siX3H7| {8 F=7t.

char decisionTree[MAX][MAX] = { 0 }, TF[MAX] = { 0 }, *answer=0, *p = 0;
/1. YUE
//1) B™EZ & T4 N 94
scanf("%d", &N);
//2) 2HEE LE Y& ¢H
for (i =1; i <=N; i++) {
scanf("%d", &n);
gets(&decisionTree[n]);
}//n o ORK[EF EE LE Hz
/*
/188 EB| E3 : 298 //
printf("tn--—- Z™EZ] -—#n");
for (i =15 i <=n; i++) printf("[%d] %s #n", i, &ecisionTreel[i]);
puts(nn);
*/
//3) TEOf Chet B
gets(TF);
/2. BEEg| ErM
p=TF;
//printf("Wn%s", &decisionTree[1]); //BHEE|Q| RE LE &£8 : Zo/g //
for (i =1; cnt < N; ent++) {//m&0| Ofet S EZLE 22[5t40, HAt
answer = strtok(p, " ");
[lprintf(" %s", answer); //BAAE B =3 : 2o/2 //
p += (strlen(answer) + 1); //TFQ| CtZ B X2 ZQIEp £
if (strcmp(answer, "true")==0) i =i *=2; //EO| true O|H,6 2AZXALEZ

else if (strcmp(answer, "false")==0)

if ((i >n) || (decisionTree[i] ==

i =2+ 1; //HO| false O™,

)) break; //0|& %] i7t ZEEZ| #HeE




_

HOLEALE Lf8O| gl= d% BT
f(xp==0) { //CHS ©O| Y= Z2. (siX] HA 2 Eo| opx|arel ZH2)
if (decisionTree[i = 2][0] == 0 && decisionTree[i * 2+1][0] == 0)
printf("Wn—> %sWnin", &decisionTreel[i]); //ZHEZ|9|

else i

BlELC(A™LE)

Uk
i

else
printf("#n—> Z2FELE| = A0 HXEIUASLICL. Wnin");
break;
}
else{ //&X ZAL Sl ©0| OHX|Z0| OfH H2)
//printf("Wn%s", &decisionTree[i]); //BEEZ[Q X LE W = :
grorg y/
if (decisionTreel[i = 2][0] == 0 8&& decisionTree[i = 2 + 1][0] == 0) {
printf("#n—> BFEL| £ A0 HXEIUASLICE. #Wnin");
break;

}

else continue;

}

return 0;
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